[INSTRUCTION 114,

Kit Numbers 51949-01YYB, 51949-01YYD, 51949-01YYL, 51949-01YYU,

-JO0796

B“ EI Iw

AMERICAN MOTORCYCLES

REV. 11-08-2000

51949-01YYM, 51949-01YYV, 51949-01YYE, 51949-01YYX, 51949-01YYA

S3 CUSTOM SEAT

General

This kit is designed for all 1997 and later S3 and S3T

vehicles.
Kit contents:

Kit Number 51949-01YYB
ITEM DESCRIPTION
1 Seat,Carbon Black
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYD
ITEM DESCRIPTION
1 Seat, Blue Streak
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYL
ITEM DESCRIPTION
1 Seat, Molten Orange
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYU
ITEM DESCRIPTION
1 Seat, Reactor Yellow
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYM
ITEM DESCRIPTION
1 Seat, Spark Red
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYV
ITEM DESCRIPTION
1 Seat, Onyx Alloy
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYE
ITEM DESCRIPTION
1 Seat, Amazon Green
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYX
ITEM DESCRIPTION
1 Seat, Demon Blue
2 Grab strap
3 Bolt, 5/16-1.00 flange head

Kit Number 51949-01YYA
ITEM DESCRIPTION
1 Seat, Billet Metallic
2 Grab strap
3 Bolt, 5/16-1.00 flange head

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

PART NO.

Not sold separately
51950-01Y

4206

i03354.eps

Grabstrap

§ — ™~ _Locknut and
seat pin on
stock seat

Figure 1. Seat

NOTE
Items 2 and 3 are already installed on seat.

NOTE
A Service Manual for your vehicle is available from your Buell
Dealer.

Installation

1. Refer to the applicable Service Manual for instructions
on removing seat from vehicle.

2. Remove lock nut and seat pin from stock seat.

3. Install pin and lock nut on new seat. Run lock nut down
as far as possible on pin. Finger tighten lock nut.

4. Install seat on vehicle. If seat does not latch firmly,
remove seat and adjust pin into the seat. If seat does
not latch at all, then adjust pin out from seat.

5. Once the fitment is correct, tighten lock nut against seat
pan to secure pin.

6. Install seat and verify that seat is firmly locked in place.
Lock rear of seat with key.

AWARNING

After installing seat, pull upward on front of seat to be
sure it is locked in position. If seat is loose, it could shift
position during vehicle operation, causing loss of control
of vehicle and death or serious injury.



